Suppose we hypothesize that there is a negative (inverse) relationship between treatment and depression. We'd like to test this hypothesis, so we obtain two samples. Sample 1 is drawn from a population of depressed persons who have not received any type of treatment. Sample 2 is drawn from a population of depressed people who HAVE received treatment for depression. No subject in either group has ever interacted with any other subject in either group. Each subject in each group has been administered the MMPI-2. The mean T score of Scale 2 for group 1 is 75, while it is 63 for group 2. The scores, in the population, for both groups are distributed normally. Sample 1 is made up of 20 people, and their Scale 2 scores have a standard deviation of 10. Sample 2 also has 20 people with a Scale 2 standard deviation of 10, as well. 

Independent t-Test Summary

                    ----------------------------------

                    Group     Mean        SD       n

                    ----------------------------------

                      1        75.00     10.00     20

                      2        63.00     10.00     20

                    Grand      69.00     11.59     40

                    ----------------------------------

                   Difference between Means =     12.00

      Test for Homogeneity of Variance: F =   1.00, Prob. = 1.00

                            Press <CR> for more...

                     Significance Tests & Power Analyses

                           (Equal Variances Model)

-------------------------------------------------------------------------------

Statistic                                       1-Tailed        2-Tailed

-------------------------------------------------------------------------------

t Value........................................     3.79            3.79

Degrees of Freedom.............................    38              38

Standard Error of Diff. between Means..........     3.16            3.16

Probability of Type I Error....................     <.001          <.001

Effect Size (Cohen's d)........................     1.20            1.20

Effect Size (r²)...............................     0.27            0.27

Power (for _=.05)..............................     1.000          1.000

Minimum N for 1-ß=.8, _=.05....................     7               8

Critical Difference (1-ß=.8, _=.05)............     4.00            5.00

Lower Limit of 95% CI for Diff. Between Means..     6.67            5.60

Upper Limit of 95% CI for Diff. Between Means..    17.33           18.40

                     Significance Tests & Power Analyses

                          (Unequal Variances Model)

-------------------------------------------------------------------------------

Statistic                                       1-Tailed        2-Tailed

-------------------------------------------------------------------------------

t Value........................................     3.79            3.79

Degrees of Freedom.............................    40              40

Standard Error of Diff. between Means..........     3.16            3.16

Probability of Type I Error....................     <.001          <.001

Effect Size (Cohen's d)........................     1.20            1.20

Effect Size (r²)...............................     0.27            0.27

Power (for _=.05)..............................     0.096          0.047

Minimum N for 1-ß=.8, _=.05....................   124             124

Critical Difference (1-ß=.8, _=.05)............     4.00            5.00

Lower Limit of 95% CI for Diff. Between Means..     6.67            5.61

Upper Limit of 95% CI for Diff. Between Means..    17.33           18.39

